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{dÚmÏ¶m©Mo Zmd - ................................................. 
      

grQ> Z§~a -	      	  df© 23 do
4‘hm.Q>°b|Q> gM© narjm, OiJmd B¶Îmm Mm¡Wr  

CÎmao Zm|X{dÊ¶mnydu Imbrb gd©gm‘mÝ¶ gyMZm dmMm.¶m gd© ‘mÜ¶‘m§gmR>r gma»¶mM AmhoV.
1) 	 gdm©V ‘hÎdmMr gyMZm {‘imbobr àíZn{ÌH$m hr Amnë¶mM dJm©Mr ( 2 ar Mr ) Amho H$s Zmhr ¶mMr ImÌr 

H$amdr. narjm Pmë¶mda doJù¶m dJm©Mr AJa ‘mÜ¶‘mMr àíZn{ÌH$m ~XbyZ nwÝhm narjm KoVbr OmV Zmhr. 
(CÎmao H$mù¶m C‘Q>Umè¶m ~m°bnoZZoM N>m¶m§[H$V H$amdrV.) 

2) 	 ‘w»¶ narjoV àíZn{ÌH$m {‘iÊ¶mAmYr Vwåhmbm Vw‘Mo Zmd, grQ> Z§~a, ‘mÜ¶‘ d H|$ÐmMo Zmd [b{hbobr 
CÎman{ÌH$m {‘iVo. grQ> Z§~a d Zmd ¶mda H$moUVrhr {Jadm{Jad AJa ImS>mImoS> H$ê$ Z¶o. {Jadbobo AJa 
ImS>mImoS> Ho$bobo Zmd qH$dm grQ> Z§~a g§JUH$mbm dmMVm ¶oV Zmhr. n¶m©¶mZo Vw‘Mr CÎman{ÌH$m Vnmgbr 
OmUma Zmhr. CÎmao Zm|X{dVmZm CÎman{ÌH$m ’$mQ>Uma Zmhr ¶mMr H$miOr ¿¶m. CÎman{ÌHo$da CÎmam§Mo Jmob N>m¶m§{H$V 
H$aÊ¶m{edm¶ H$mhrhr {bhÿ ZH$m, ImS>mImoS> H$ê$ ZH$m AJa H$moUVmhr S>mJ nSy> XoD$ ZH$m. CÎman{ÌHo$bm KS>r 
nSy> XoD$ ZH$m.

3) 	 ¶m àíZnwpñVHo$V ^mfm (‘amR>r) d J{UV - ^mfm ( B§J«Or ) d ~w{Õ‘Îmm Ago H«$‘mZo EHy$U 100 àíZ AmhoV. 
CÎmao {b{hÊ¶mnydu {dÚmÏ¶mªZr Vo nyU© 100 AmhoV H$s ZmhrV ¶mMr àW‘ ImÌr H$ê$Z ¿¶mdr. àíZnwpñVHo$V 
H$moar nmZo AJa AÝ¶ H$mhr Xmof Agë¶mg àíZnwpñVH$m n¶©dojH$m§H$Sy>Z bJoM ~XbyZ ¿¶mdr. narjoZ§Va Vr 
VH«$ma J«mø Yabr OmUma Zmhr.

4) 	 CÎmao Zm|X{dÊ¶mgmR>r ñdV§Ì CÎman{ÌH$m Amho. Vwåhr Zm|X{dUma Agboë¶m CÎmam§Mo dV©wi nyU©nUo H$mù¶m 
C‘Q>Umè¶m ~m°bnoZZoM N>m¶m§{H$V H$am. EH$m àíZmgmR>r EH$mM CÎmamMm n¶m©¶ N>m¶m§{H$V H$am. AY©dQ> N>m¶m§{H$V 
Ho$boë¶m qH$dm dV©wimÀ¶m ~mhoa N>m¶m§{H$V Ho$boë¶m dV©wimbm JwU {Xbo OmV ZmhrV. dV©wimMr H$S>m d AmVrb 
nyU© ^mJ N>m¶m§{H$V Ho$bm Jobm nm{hOo. 

5) 	 àË¶oH$ CÎma H$miOrnyd©H$ d ImÌr H$ê$Z Zm|Xdm. H$maU EH$Xm Zm|X{dbobo CÎma ~XbVm ¶oUma Zmhr. H$moUrhr 
Vwåhmbm doJù¶m nÕVrZo CÎmao Zm|Xdm¶bm gm§{JVbr Var Ë¶m§Mo EoHy$ ZH$m. CÎma Zm|X{dÊ¶mMr ¶mo½¶ nÕV 
Imbrb à‘mUo Amho

	 … CXm. àíZ 1            
6) 	Imbrbà‘mUo N>m¶m§{H$V Ho$bobr CÎmao J«mø Yabr OmV ZmhrV.
	 CXm.     CXm.     CXm.     CXm.     CXm.    
7) 	 CÎmamÀ¶m dV©wimV ~amo~aMr AJa MwH$sMr (   )   (   ) IyU H$ê$ ZH$m.
	 CXm.           CXm.        
8) 	 narjm gwê$ AgVmZm H$moUmerhr ~moby ZH$m AJa H$moUmÀ¶mhr CÎmamMr H$m°nr H$ê$ ZH$m. Ago Ho$ë¶mg Vwåhmbm 

narjmJ¥hm~mhoa H$mTy>Z Q>mH$Ê¶mV ¶oB©b. 9) CÎman{ÌHo$da ghr H$am.AÝ¶Wm Vr Vnmgbr OmUma Zmhr. 10) 
n¶©dojH$m§Zm àíZm§Mm AW©, CÎmao qH$dm H$mhrhr {dMmê$ ZH$m, Ë¶m§Zr H$moUmbmhr CÎmao gm§JÊ¶mMm à¶ËZ 
Ho$ë¶mMo Vwåhmbm AmT>ibo Va H|$Ðg§MmbH$m§H$S>o bJoMM VH«$ma H$am. 11) àíZnwpñVH$m d narjoMo AmoiInÌ 
{ZH$mbmn¶ªV OnyZ R>odm. 12) narjm hm°b‘Ü¶o ‘mo~mB©b d H°$ë³¶yboQ>a dmnaÊ¶mg nadmZJr Zmhr. 13) narjoMm 
{ZH$mb www.mtsjalgaon.co.in ¶m g§Ho$VñWimda bmJVmo. ¶m~m~V H$moUrhr ’$moZ H$ê$ Z¶o. 14) 
narjobm OmJoA^mdr O{‘Zrda gwÕm ~gmdo bmJVo. Ë¶mgmR>r AmgZnÅ>r, n°S> gmo~V ZoUo Amdí¶H$ Amho.



Mm¡Wr 428124 2 www.mtsjalgaon.co.in

à.01 	 {h‘mb¶ nd©V gw§Xa Amho. ¶m dm³¶mV nd©V ho ......... Amho.
	 j Zm‘ 	 k gd©Zm‘ 	 l {deofU	 m [H«$¶mnX
à.02 	 ~mOar ho Iarn nrH$ Amho. ¶m dm³¶mVrb {deofU H$moUVo ?
 	 j ~mOar 	 k Iarn> 	 l nrH$ 	 m Amho
à.03 	 "‘m§S>r' ¶m eãXmbm g‘mZmWu eãX H$moUVm ?
 	 j JwS>Km 	 k A§H$> 	 l nm¶ 	 m KmoQ>m
à.04 	 "XþéñV' Mm {déÕmWu eãX V¶ma H$aVmZm H$moUVo Aja AmYr bmJVo ?
 	 j A 	 k V§> 	 l Zm 	 m H$
à.05 	 "H$m§Xm' ¶m eãXmMm OmoS>eãX H$moUVm ?
 	 j dm§Xm 	 k Hw§$Xm	 l bgyU 	 m ^mH$ar
à.06 	 dmgéMr AmB© H$moU ?
 	 j Jm¶ 	 k harU> 	 l eoir 	 m åh¡g
à.07 	 "ñ¶hVmJra' ¶m Ajam§nmgyZ V¶ma hmoUmè¶m J«§WmMo boIH$ H$moU ?
 	 j ‘hmË‘m Jm§Yr 	 k ‘hmË‘m ’w$bo> 	 l Odmhabmb Zohé 	 m bmoH$‘mÝ¶ {Q>iH$
à.08 	 JmS>rbm Iyn JXu hmoVr; nU àdmg Mm§Jbm Pmbm. ¶m dm³¶mVrb {dam‘{MÝh AmoiIm.
 	 j CX²JmadmMH$ 	 k àíZ{MÝh> 	 l ñdën{dam‘ 	 m AY©{dam‘
à.09 	 VrW©én ¶m g§jonmgmR>r ¶mo½¶ n¶m©¶m§H$ N>m¶m§{H$V H$am.
 	 j AmB© 	 k ‘m‘r> 	 l ‘mder 	 m VmB©
à.10 	 A¶mo½¶ OmoS>r AmoiIm.
 	 j gaXma - nQ>ob    		  k ‘hmË‘m - ’w$bo>	
	 l AmZ§XKZ- Amem ^mogbo 	 m AmMm¶© - {dZmo~m ^mdo
à.11 	 "AmH$me {OWo Q>oH$ë¶mMm ^mg hmoVmo' Ë¶m OmJobm H$m¶ åhUVmV ?
 	 j {jVrO 	 k O‘©Z> 	 l g‘wÐ 	 m B§ÐYZwî¶
à.12	 H$m ~« Z Am gm§ H$mo bmo n Jo a fm ÷ S>o nm km U U

	 ¶m Ajam§nmgyZ EH$ AW©nyU© åhU V¶ma Ho$ë¶mg Ë¶m åhUrMo ~amo~a ‘Ü¶^mJr ¶oUmao 
	 Aja H$moUVo ?
 	 j H$m 	 k Am> 	 l nm 	 m n
à.13	 Ogm ‘mUgm§Mm O‘md Vgm gmYy§Mm ?
 	 j OWm 	 k H$m{’$bm> 	 l KmoiH$m 	 m Vm§S>m
à.14 	 MwH$sMr OmoS>r AmoiIm.
 	 j ‘mV H$aUo = ajU H$aUo 	 k Pw§~S> CS>Uo = JXu hmoUo
> 	 l nmo~mam H$aUo = niyZ OmUo 	 m Jm¡ad H$aUo = gÝ‘mZ H$aUo
à.15 	 ¶mVrb JQ>mV Z ~gUmam eãX H$moUVm ?
 	 j àmUr 	 k ídmnX> 	 l ney	 m njr

nona n{hbm : ‘amR>r d J{UV (àíZ 1 Vo 50)
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à.16 	 Imbrbn¡H$s H$moUVo brndf© Zmhr?
	  2016 	  2012 	

 2024	  2022

à.17 	 EH$ KS>çmi 550 ê$. {dH$ë¶mg 50 ê$. 
VmoQ>m hmoVmo Vo KS>çmi {H$Vrbm {dH$mdo 
åhUOo 75 ê$. Z’$m hmoB©b?

	  600	  675 	
 700	  575

à.18 	 17 hr g§»¶m 17 doim KoD$Z Ho$bobr 
~oarO åhUOo ...... 

	  17 + 17 	  17 x 17 	
	  17 ÷ 17	  17 + 17 ÷ 17

à.19 	 Imbrbn¡H$s gdm©V bhmZ AnyUmªH$ 
H$moUVm ?

	  
3
8    

3
12   

3
15    

3
5

à.20 	 noZmMr qH$‘V nopÝgbrÀ¶m qH$‘Vrnojm 
< 5 OmñV Amho. Oa nopÝgbrMr qH$‘V 
< 5 Agë¶mg 2 noZm§Mr qH$‘V {H$Vr?

	  < 20$	  < 55 	
 < 70	  < 250

Q.16 	 Which is not leap year ?
	  2016 	  2012 	

 2024	  2022

Q.17 	 If watch is sold at <550, there 
is loss of <50. Find selling 
price of it to get profit of <75.

	  600 	  675 	
 700	  575

Q.18 	 The addition of 17 for 17 
times means ....... 

	  17+17	  17 x 17 	
 17 ÷ 17     17 + 17 ÷ 17

Q.19 	 Which is smallest fraction ?

	  3
8    3

12   3
15   3

5

Q.20 	 Price of pen is more than 
pencil by <5. If price of pencil 
is <5. Find cost of 2 pens.

	  < 20	  < 55 	
 < 70	  < 250

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.21 	 Imbrbn¡H$s gdm©V bhmZ g§»¶m 
H$moUVr?

	  nmMMr nmMnQ> 	
	  XhmMr XhmnQ> 	
	  gmVMr XþßnQ>	
	  ZD$Mr {VßnQ>

à.22 	
3
25 ‘Ü¶ {H$Vr {‘idmdo åhUOo EH$ nyU© 
hmoB©b?

	  0   
3
25    

25
25     

22
25

à.23 	 XmoZ A§H$s g§»¶m {b{hVm§Zm 7 hm A§H$ 
{H$Vr doim {bhmdm?

	  7 doim 	  17 doim 	
 19 doim	  18 doim

à.24 	 A§eyOdi {OVHo$ nmonQ> AmhoV {VVHo$M 
Hw$Ìo AmhoV. Ë¶m§À¶m nm¶m§Mr g§»¶m EHy$U 
168 Agë¶mg EHy$U nmonQ> {H$Vr?

	  42    28    84   90

à.25 	

A
S>

B©>

H$~

¶m AmH¥$VrVrb gd© 
q~Xÿ EH$‘oH$m§er 
OmoS>Ê¶mgmR>r AmUIr 
{H$Vr aoKm H$mT>mì¶m 
bmJVrb ?

	  6      10    12     8

Q.21 	 Which is smallest from given 
number ?

	  Fifth multiple of five  	
 Tenth multiple of ten 	
 Twice of seven	
 Third multiple of nine 

Q.22	 Which fraction should be 
added in 3

25 to get answer 1 ?

	  0     
3

25    25
25    22

25
Q.23 	 To write all two digit numbers 

how many times 7 is used ?
	  7 times 	  17 times 	

 19 times	  18 times

Q.24 	 Anshu has same numbers 
of parrots and dogs. Total 
number of their legs is 168. 
Find number of parrots ?

	  42    28    84    90

Q.25 	 E
D

CB

A

In given figure, how 
many segments 
should be drawn to 
join all points to 
each other ?

	  6      10     12    8

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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$H$ÀÀ¶m H$m‘mgmR>r OmJm.....

à.26 	 4, 6, 8 ho A§H$ EHo$H$XmM dmnéZ 
	 3 A§H$s OmñVrV OmñV {H$Vr g§»¶m 
	 V¶ma H$aVm ¶oVrb ?
	  6      8      10    12

à.27 	
63

100018  Xem§e AnyUmªH$mV H$go    	    	
	       {bhmb ?

	  18.630 	  18.0063 	
 1.863	  18.063

à.28 	 Imbrb AmH¥$VrV EHy$U Mm¡ag {H$Vr ?
	  ghm 	  gmV 
	  AmR>	  ZD$

à.29 	 darb àíZ 28 ‘Yrb AmH¥$VrV EHy$U 
Mm¡H$moZ {H$Vr ?

	  ZD	  ~mam 	
 gmoim	  AR>am

Q.26 	 How many three digit numbers 
can be formed by using 4, 6, 8 
once in each number ?

	  6     8       10      12

Q.27    Write in decimal system : 

	  63
100018  

	  18.630 	  18.0063 	
 1.863	  18.063

Q.28 	 How many squares are there 
in given figure ?

  Six 	  Seven 
  Eight	  Nine

Q.29 	 How many rectangles are 
there in given figure in Q.28 ?

	  Nine 	  Twelve	
 Sixteen	  Eighteen



Mm¡Wr 428124 6 www.mtsjalgaon.co.in

à.30 	 EH$m emioV 2340 {dÚmWu AmhoV. 
Ë¶mVrb 248 {dÚmWu emim gmoSy>Z Jobo. 
OyZ‘Ü¶o ZdrZ 426 {dÚmÏ¶mªZr àdoe 
KoVbm. AmVm emioVrb EHy$U {dÚmWu 
{H$Vr ?

	  2340 - 426 + 248> 
	  2340 + 248> + 426  	

 2340 = 426 + 248>	
 2340 - 248> + 426

à.31 	 gmoS>dm.  45+ 3 x 27 =  ?
	  75> 	  81 	

 126	  1296

à.32 	 72 ‘rQ>aMr Xmoar 8 {R>H$mUr gmaIr 
H$mnbr Va XmoarÀ¶m àË¶oH$ VwH$S>çmMr 
bm§~r {H$Vr ?

	  8 ‘r.> 	  9 ‘r. 	

 10 ‘r.	  gmS>oAmR> ‘rQ>a

Q.30 	 In the school, there were 
2340 students. 248 student 
left school. In June 426 new 
admission. Find new number 
of students in the school? 

	  2340 - 426 + 248
	  2340 + 248 + 426	

 2340 = 426 + 248	
 2340 - 248 + 426

Q.31 	 Solve : 45 + 3 x 27 = ?
	  75 	  81 	

 126	  1296

Q.32 	 The wire of length 72 meter 
is cut at 8 places to make 
pieces of equal length. Find 
length of each piece ?

	  8  mt.	  9  mt.	
 10 mt.	  1

28  mt.

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.33 	 890 én¶mV OmñVrV OmñV ‘moR>çm 
qH$‘VrÀ¶m ZmoQ>m KoVë¶m Va ZmoQ>m§Mr 
g§»¶m {H$Vr ? 

	  5>    6      7      8

à.34 	 g‘ra AmO gw~moYÀ¶m XþßnQ> d¶mMm 
Amho. gw~moY 15 dfm©Mm Amho Va AmUIr 
2 dfmªZr XmoKm§À¶m d¶m§Mr ~oarO {H$Vr ?

	  34 df}> 	  47 df} 	
 49 df}	  45 df}

à.35 	 EImÚm g§»¶oVrb A§H$m§Mr ~oarO 9 
Agë¶mg Ë¶m g§»¶og Imbrbn¡H$s 
H$moUH$moUË¶m A§H$m§Zr nyU© ^mJ OmVmo ?

	  3,4,6> 	  2,4,9 	
 1,3,9	  3,6,9 

à.36 	 gmV hOma nñVrg + n§Yam = {H$Vr ?
	  70050>         	  7050 
	  750 	  70500

Q.33 	 Find the number of notes 
of higher value for amount 
<890  ?

	  5    6      7	      8

Q.34 	 Today, Samir's age is twice 
of age of Subodh. Subodh's 
age is 15 yrs. Find sum of 
their ages after two years.

	  34 years	  47 years 	
 49 years	  45 years

Q.35 	 Sum of all digits in a number 
is 9. Then that number is 
divisible by ......

	  3,4,6 	  2,4,9 	
 1,3,9	  3,6,9

Q.36   Seven thousand and thirty 
five + fifteen = ?

	  70050 	  7050 	
 750	  70500

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.37	 Imbrbn¡H$s gdm©V ‘moR>r g§»¶m H$moUVr ?
	  7 Mr AmR>nQ>> 	
	  9 Mr {VßnQ> 	
	  10 Mr XþßnQ> 	
	  8 Mr 6 nQ>

à.38 	 AmR> hOma nmMeo ‘YyZ AS>rM hOma 
dOm Ho$ë¶mg {H$Vr CaVrb ?

	  6500> 	
	  6000 	
	  7500	
	  6250

à.39 
3
4

2
4

6
9

9
12

8
15(A) (B) (C) (D) (E) 	

¶mVrb g‘mZ qH$‘VrMo AnyUmªH$ H$moUVo ?
	  A Am{U> C 	  B Am{U> D 	

 A Am{U> E	  B Am{U> E

à.40 	 gdm©V bhmZ n[a‘mU H$moUVo ?
	  {H$bmo‘rQ>a> 	  ho³Q>mo‘rQ>a 	

 S>oH$m‘rQ>a	  g|{Q>‘rQ>a

Q.37	 Which is the biggest number ?
	  8 times of seven	

 3 times of 9 	
	  Two times of 10	

 6 times of 8

Q.38 	 If Two and half thousand 
is subtracted from Eight 
thousand and Five hundred 
we get .........

	  6500 	  6000 	
 7500	  6250

Q.39 	 Which fractions are equal 
from ?

  (A) (B) (C) (D) (E)
3
4

2
4

6
9

9
12

8
15	    

        A, B  E, C  B, D  A, C

Q.40 	 Which is the smallest unit ?
	  Kilometer   Hectometer 
	  Decameter  Centimeter

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.41 	 g{dVm gH$mir nmdUonmM dmOVm 
Aä¶mgmbm ~gbr d 7 dmOon¶ªV 
{VZo Aä¶mg Ho$bm Va {VZo {H$Vr doi 
Aä¶mg Ho$bm ?

	  1 Vm.15 {‘.> 	  2 Vm.30 {‘. 	
 1 Vm.30 {‘.	  2 Vm.15 {‘.

à.42 	 7777 ¶m g§»¶oVrb EH$H$ñWmZMm 7 
H$mTy>Z Q>mH$bm Va g§»¶m {H$VrZo H$‘r 
hmoB©b ?

	  7 Zo 	  7000 Zo 	
 777 Zo	  700 Zo

à.43 	 12 ‘o 2023 amoOr ewH«$dma Agë¶mg 

12 ‘o 2024 amoOr H$moUVm dma ¶oB©b ?

	  ewH«$dma 	  e{Zdma 	

 a{ddma	  Jwédma

à.44	 28 + 27 _ 9 x 3 = {H$Vr ?
	  15    37     29    28 

Q.41 	 Savita started her study in 
morning at quarter to five  
and completed at 7 a.m. How 
much time she studied ?

	  1 hr.15 m. 	  2 hr. 30 m. 	
 1 hr. 30 m.	  2 hr.15 m.

Q.42 	 If unit place digit 7 from 
number 7777 is eliminated 
then new number will be less 
by ...........

	  7    7000   777  700

Q.43	 12th May 2023 is on Friday. 
then 12th May 2024 will be on.

	  Friday 	  Saturday 
 Sunday	  Thursday

Q.44	 28 + 27 - 9 x 3 =  ?
	  15    37    29   28

$H$ÀÀ¶m H$m‘mgmR>r OmJm.....
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à.45	 EH$m Mm¡agmH¥$Vr OmJobm Mma àX{jUm 
KmVë¶m Voìhm 960 ‘rQ>a Mmb Pmbr 
Va Mm¡agmMr ~mOy {H$Vr ‘rQ>a Agob ?

	  60 ‘rQ>a> 	  240 ‘rQ>a 	
 160 ‘rQ>a	  40 ‘rQ>a

à.46 	 Imbrbn¡H$s gdm©V ‘hmJ dñVy H$moUVr ?
	  gmIa 75 é.V 3 {H$bmo. 	

 Jyi 50 é. V 1 {H$bmo.
	  Vob 45 é.V AYm©{H$bmo.	

 Ho$ir 40 é. S>PZ

à.47 	 H$moUË¶mhr {df‘ g§»¶og 2 Zo 
^mJë¶mg ~mH$s ....... CaVo.

	  0       1     2     3 

à.48 	 EH$m JR²>R>çmV 13 døm Va 1339 
døm§Mo {H$Vr JÇ>o hmoVrb ?

	  23 	  13 	
 103	  1003

à.49 	 ZD$ é‘mbm§Mr qH$‘V < 270 Amho Va 
12 é‘mbm§Mr qH$‘V {H$Vr ?

	  < 360 	  < 3240 	
 < 460	  < 3600

Q.45	 The distance of 4 rounds 
around a square ground is 
960 meter. Find length of 
side of the ground ?

	   60 meter	  240 meter	
 160 meter	  40 meter

Q.46 	 Which is of highest price ?
	  Sugar <75 for 3 kg.	

 Jaggery <50 for 1 kg.
	  Oil <45 for half kg.	

 Banana <40 for Dozen.

Q.47 	 If any odd number is divided 
by 2 leaves remainder .........

	  0      1     2      3

Q.48 	 In a pack there are 13 note-
books. How many packs can 

	 be made from 1339 
notebooks?

	  23    13   103  1003

Q.49 	 9 Handkerchief cost <270 then 
cost of 12  Handkerchief ?

	  Rs.360 	  Rs.3240 	
 Rs.460	  Rs.3600

à.50 	 Imbrbn¡H$s g‘^yO {ÌH$moUmMr AmH¥$Vr H$moUVr ?
Q.50 	 Which figure is of equilateral triangle ?
	

   
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PAPER-II : LANG. & INT.  (Q.51 to 100)
Q.51 to 55 	Find the odd man out.
Q.51	 j opponent   	k rival     	 l enemy	 m reflect
Q.52	 j against   	k  reverse     	 l opposite	 m reflect
Q.53	 j tadpole   	k  horse     	 l bull	 m fox
Q.54	 j bee-flies   	k  cat-trots     	l dog-runs	 m robin-hopes
Q.55	 j hive   	k  kennel     	 l mole	 m stable
Q.56 	 Choose the word indicating the sound of the Sparrow
	 j gobbles   	k  chirps     	 l coos	 m twiters
Q.57 	 Mark the singular form.
	 j fish   	k  mice     	 l clothes	 m agenda
Q.58 	 My mother ........ to Haridwar tomorrow.  
	 (to go - future continuous)
	 j will go   		k   will be going 

    	 l would go		  m went
Q.59 	 I ......... eaten my break fast. Which word is missing from 
	 the sentence ?
	 j will   	k  have     	 l has	 m am
Q.60 	 Find the correct spelling word.
	 j accpt   	k  anounce     l battery	 m comittee
Q.61 	 Find the incorrect spelling word.
	 j elegent   	k  foreign     	 l decision	 m canvass
Q.62 	 Which idiom best suits the given meaning ?
	 to accept defeat -
	 j to give in   		k  to crack a nut
     	 l to beat about the bush	 m to bell a cat
Q.63 	 You will begin a letter to the principal with .......
	 j My dear   	k  Dearest     	l Respected	 m To
Q.64 	 Find the word opposite in meaning to the given word : 'Add' -
	 j Multiply   	k  Divide     	 l Addition	 m Substract
Q.65	 Name the person who writes stories.
	 j poet   	k  author     	 l writer	 m story letter
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à.71 	 : : ?::

j  

à.73 	
: : ?::

j   

à.66 	 "nXH$XnH$nXH$XnH$XnH$nXH$' ¶m 
‘m{bHo$V "X' À¶m AmYr bJoM "H$' {H$Vr 
doim Ambm Amho ?

	 j 6 doim 	 k 5 doim 	
l 4 doim	 m 3 doim

à.67 	 ‘ {‘ ‘w ‘o ? ¶m ‘m{bHo$V àíZ{MÝhmÀ¶m 
OmJr H«$‘mZo H$m¶ ¶oB©b ?

	 j ‘¡    k ‘mo    l ‘y      m ‘m¡

à.68 	 {S>g|~a : ‘mM© :: OyZ : ? 
	 j E{àb 	 k OmZodmar 	

l Am°³Q>mo~a	 m Owb¡

à.69 	 63  :  92  ::  44  : ?
	 j 66    k 36   l 28     m 48

à.70 	 Am§~m  :  H$mo¶  ::  ?  : AmR>ir
	 j noê$ 	 k nnB© 	

l ~moa	 m g’$aM§X

Q.66 	 'pdkdpkpdkdpkdpkpdk' In the 
series, how many times 'k' 
comes immediately before 'p' ?

	 j 6 Times 	 k 5 Times	
l 4 Times	 m 3 Times

Q.67 	 ma, me, mi, mo, ? Find term in place 
of question mark in the series.

	 j ma  k mu  l mee   m mi

Q.68 	 December : March :: June : ? 
	 j April 	 k January 	

l October	 m July

Q.69 	 63  :  92  ::  44  :  ?
	 j 66    k 36   l 28     m 48

Q.70 	 Shoes  :  Socks  ::  ?  :  Key
	 j Door 	 k House 	

l Lock	 m Question

à.72 	 777  :  595  ::  555  :  ?
	 j 575 k 666  l 373  m 464

Q.73 	 777  :  595  ::  555  :  ?
	 j 575  k 666  l 373  m 464

à.74	 3, 7, 13, 19, ? àíZ{MÝhmÀ¶m OmJr 
Ë¶mM H«$‘mZo ¶oUmar g§»¶m H$moUVr ?

	 j 29   k 27   l 25   m 31

à.75 	 JQ>mer OwiUmao nX AmoiIm.     	
3386, 4808, 3935

	j  4444 	 k 9110
	 l 8462	 m 9901              

Q.74	 Which number will come serially 
in place of question paper 

	 3, 7, 13, 19, ?
	j  29    k 27   l 25    m 31
Q.75 	 Find the matching term.   
	 3386, 4808, 3935	
j 4444  k 9110  l 8462  m 9901    
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à.76 	 EH$m gm§Ho${VH$ {bnrV nwÊ¶mbm ‘w§~B©, 

‘w§~B©bm OiJmd, OiJmdbm aËZm{Jar d 

aËZm{Jarbm nwUo åhUVmV Va gdm©V OmñV 

hmnyg {nH${dUmam {Oëhm H$moUVm ?

	 j nwUo 	 k ‘w§~B© 	

l OiJmd	 m aËZm{Jar

 Q.76 	 In a code language, Pune is 
called Mumbai, Mumbai is called 
Jalgaon, Jalgaon is called 
Ratnagiri and Ratnagiri is called 
Pune. Which district is largest 
producer of Alphonso Mango ?

	 j Pune 	 k Mumbai	
l Jalgaon	 m Ratnagiri

à.77	 A B O
P E F
? J I

àíZ{MÝhmÀ¶m OmJr H$m¶ ¶oB©b ?
	 What will come in place of question mark ?
	 j U         k D            l L	 m K

à.78	 Imbrb ‘m{bHo$V H«$‘mZo ¶oUmar g§»¶m 
H$moUVr ?  75, 74, 72, 69, ?

	 j 66   k 67   l 65     m 68

à.79	 326, 428, 616, 515  ¶m JQ>mV 
~gUmar g§»¶m

	 j 239  k 257  l 224  m 331

à.80 	 EH$ KS>çmi AmaemV 5 dm. 10 {‘. doi 
Xe©{dVo Va àË¶jmV Vr doi H$moUVr ?

	 j 10 dm. 05 {‘. 	k 3 dm. 50 {‘. 	
l 06 dm. 50 {‘.	m 4 dm. 10 {‘.

Q.78	 Which number comes serially 
in the series   75, 74, 72, 69, ?

	 j 66    k 67   l 65     m 68
Q.79	 326, 428, 616, 515 Find the the 

similar number in the group.
	 j 239   k 257  l 224 m 331
Q.80 	 Mirror image of a clock shows 

5:10. What is the real time in 
the clock ?

	 j 10 : 05	 k 3 : 50 	
l 06 : 50	 m 4 : 10

à.81	 hr AmH¥$Vr AmaemV H$er {Xogob ?             Q.81   Find the mirror image.		
j 	           k                 l               m 

à.82	 Imbrb AmH¥$VrV {XgUmao EHy$U {ÌH$moU {H$Vr ?  
	 How many triangles are there in the given figure ?

	 	j 14     k 15 	       l 16	 m 17

à.83 Vo 85  JQ>mV Z ~gUmao nX AmoiIm.
à.83	 j 51   k 53    l 55    m 57
à.84	 j ABB©,  	 k B©D$E 	

l EAmoAm¡	 m Am¡¡A§A:

Q.83 to 85  Find the odd man out term. 
Q.83	 j 51   k 53    l 55    m 57
Q.84	 j ACD 	 k DFG	

l GIJ	 m JKL
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à.87 Vo 88  Imbrb ‘Zmoam nmhÿZ à.87 d 88 Mr CÎmao emoYm.
Q.87 to 88  Observe the pyramid and find the answers.
	

A	 B	 C	 D	 E
     I       H     G       F
         J      K      L
             N     M
                 O

Q.87     EFG  :  AIH  Va  DGH  :  ?
	j  BIH	   k BHI
	l  BHG 	   m CHG
Q.88     BIH  :  CHG  :  HJK  :  ?
	j  GKL	   k GLK
	l  DFG 	   m DGF

à.89 	 Imbrb AmH¥$VrMo à{Vq~~ nmÊ¶mV H$go {Xgob ?  Q.89  Find the water image.

	
j  

	 	

à.90 Vo 91  gyMZm :    dVw©i = S>m°³Q>a    /   Mm¡H$moZ = {ejH$    /    {ÌH$moU = eoVH$ar
Q.90 to 91  Instruction :  Circle = Doctor,  Rectangle = Teacher,  Triangle = Farmer
à.90	

10 1
2

5
6

4 7

8 9
3

{H$Vr S>m°³Q>a eoVH$ar gwÕm AmhoV ?
Q.90     How many doctors are also farmers ?
	 j 12            k 20           l 2	      m 31
Q.91	 {H$Vr {ejH$ S>m°³Q>a gwÕm AmhoV ?
Q.91 How many teachers are also doctors ?
	 j None 	 k 17         l 32	      m 8

	

j  à.85

à.86 	 EH$m gm§Ho${VH$ ^mfoV H$‘b = bH$‘m, gYZ 
= ZgYm Va Ë¶mM gm§Ho${VH$ ̂ mfoV ̂ maVr = ?

	 j Vra^m 	 k Vr^mam 	
l Vram^m	 m Vr^am

Q.86 	 In a code language, kml = lkma, 
sdn = nsda, then mts = ?

	 j mtsa	 k smta	
l tsma	 m msta

à.92	                          V§VmoV§V g‘mZ ‘mgm AmoiIm.    Q.92  Find the exactly 			
                                            similar fish.

j 	                k 	                 l	                  m 
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à.100	 AnyU© AmH¥$VrV àíZ{MÝhmÀ¶m OmJr n¶m©¶mVrb H$moUVr AmH¥$Vr {Xem Z ~XbVm ~g{dë¶mg 
Vr AmH¥$Vr nyU© hmoB©b?          Q.100   Which figure from the alternative will 
complate the incomplate figure in place of the question mark ?

	

? j   

à.93	 2 ’o$~«wdmar 2024 bm ewH«$dma Agob Va 
¶m ‘{hÝ¶mV H$moUVm dma nmM doim ¶oB©b ?

	 j Jwédma  	 k ewH«$dma  
	 l e{Zdma	 m a{ddma

à.94	 71 ‘wbtÀ¶m am§JoV A{ZH$m ‘Ü¶^mJr 
C^r Amho Va {VÀ¶m ‘mJo {H$Vr ‘wbr 
AmhoV ?

	 j 70   k 36    l 35    m 69

à.95	 àíZ{MÝhmÀ¶m OmJr ¶oUmao nX gm§Jm.  
405,  334,  722,  543 , ?

	 j 704  	 k 633 
	 l 814 	 m 915

Q.93 	 2 February 2024 is on Friday. 
Which day will occur five times in 
the month ?

	 j Thursday  	 k Friday
	 l Saturday 	 m Sunday

Q.94	 Anika is standing in the middle 
of row of 71 girls. How many 
girls are behind of her ?

	 j 70   k 36    l 35    m 69

Q.95	 Which will come in place of 
the question mark ?  

	 405,  334,  722,  543 , ?
	 j 704  k 633 l 814 m 915

à.96 Vo 97  {dg§JV AmH¥$Vr AmoiIm.     Q.96 to 97  Find the odd figure.
à.96	

j    

à.97	
j  

à.98	 B§ÐYZwî¶mÀ¶m a§Jm§‘Yrb ~amo~a ‘Ü¶^mJr 
Agbobm a§J H$moUVm ?

	 j Vm§~S>m 	 k {ndim 	
l {hadm	 m {Zim

à.99	 45321234567321143213 ¶m 
‘m{bHo$V gdm©{YH$ doim Amboë¶m A§H$mMr 
~oarO {H$Vr hmoB©b?

	 j 12    k 16     l 15     m 8

Q.98	 Which is the colour in the 
middle of a rainbow ?

	 j red 	 k yellow 	
l green	 m blue

Q.99	 45321234567321143213 What 
is the sum of digits occuring 
maximum times in the series ? 

	 j 12    k 16     l 15     m 8
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hr gyMZm Amåhr dmMbr Zmhr.bjmV am{hbo Zmhr.Ago H¥$n¶m gm§Jy ZH$m.
	 narjoZ§Va 10 Vo 15 {Xdgm§V ’$º$ EH$ ‘{hÝ¶mgmR>r {dÚmÏ¶mªZr gmoS>{dboë¶m CÎman{ÌH$m 
ñH°$Z H$ê$Z do~gmB©Q>da Q>mH$ë¶m OmVrb.Am‘À¶m CÎmagyMrV H$mhr Xmof Agë¶mg CÎmagyMr Omhra 
Pmë¶mnmgyZ 10 {Xdgm§Mo AmV ñnï>rH$aUmgh nmoï>mZo OiJmd H$m¶m©b¶mV boIr H$idmdo. ‘obda 
qH$dm ìhm°Q²>gA°nda nmR>dy Z¶o. Am‘À¶m CÎmagy{MV H$mhr Xmof Agë¶mg Vo Xÿa H$ê$ZM {ZH$mb V¶ma 
Ho$bm OmVmo. àíZM MwH$sMm Agob Va Ë¶mMo JwU gdmªZmM {Xbo OmVmV.Amnë¶m nmë¶mMr CÎman{ÌH$m 
S>mD$ZbmoS> H$ê$Z R>odmdr. nwT>o Ho$ìhmhr VH«$ma H$aVmZm {VMr qàQ> Amdí¶H$ AgVo. ¶m~m~V H$moUrhr 
’$moZ H$ê$ Z¶o. do~gmB©Q darb gyMZm dmMmì¶mV.Amnbm nmë¶ amÁ¶ñVar¶ JwUdÎmm ¶mXrV Amë¶mg 
Ë¶mÀ¶m ñH$m°baernMm AH$m¢Q>no¶r MoH$ Ë¶mÀ¶mM ZmdmZo EH$XmM {Xbm OmVmo. åhUyZ {dÚmÏ¶m©À¶m ZmdmZo 
~±Ho$V ImVo H$mTy>Z R>odm.Amåhr {Xboë¶m MoH$darb Zmd AJa VmarI ~XbyZ {Xbr OmV Zmhr.Amnbm 
nmë¶ H|$ÐñVar¶ JwUdÎmm ¶mXrV Amë¶mg Ë¶mbm Q´>m°’$s {‘iob. JwUn{ÌH$m, JwUdÎmmYmaH$m§Mo Q´>m°’$s d 
àepñVnÌ OyZ‘Ü¶o emim gwê$ Pmë¶mda 15 Vo 20 {Xdgm§Zr ñWm{ZH$ à{V{ZYr‘m’©$V emioVM {‘iVmV. 
¶m~m~V Amnë¶m ñWm{ZH$ à{V{ZYrer g§nH©$ H$amdm.Am‘MoH$S>o g§JUH$,B§Q>aZoQ> Zmhr, Amåhr {ZH$mb 
doioV nm{hbm Zmhr, Amåhmbm emioZo qH$dm H$moUr gm§JrVbo Zmhr hr H$maUo MmbUma ZmhrV. gdmªgmR>r 
EH$M {Z¶‘ Agob.doimodoir Am‘À¶m g§Ho$V ñWimdarb gyMZm dmMV ahm.15 Am°JñQ> 2024 Z§Va 
¶m narjoMo H$moUVohr aoH$m°S>© CnbãY Zgob.{ZH$mb {‘imbm Zmhr Va àW‘ Amnë¶m ñWm{ZH$ E‘Q>rEg 
à{V{ZYter g§nH©$ H$am.Z§VaM Am‘MoH$S>o boIr VH«$ma H$am.gd© nÌì¶dhma nmoñQ>mZo AJa Hw$arAaZo Am‘Mo 
OiJmd nÎ¶mda H$amdm. ‘obda qH$dm ìhm°>Q²>gA°nda H$mhrhr nmR>dy Z¶o. narjoZ§Va {ZH$mbmn¶ªV H$moUrhr 
‘mo~mB©bda g§nH©$ H$ê$ Z¶o.¶m H$mimV ‘mo~mB©bda AZmoiIr Z§~a [a{gìh Ho$bo OmV ZmhrV. Ë¶m‘wio 
J¡ag‘O {Z‘m©U hmoVmV.

4

CÎman{ÌH$m ’o$aVnmgUr AO© Z‘wZm ( A§{V‘ ‘wXV : 28/02/2024 )
{dÚmÏ¶m©Mo Zmd -                                                        ~¡R>H$ H«$‘m§H$ -
narjoMo ‘mÜ¶‘ -                                          narjoMo g|Q>a -
nmbH$m§Mm KaMm nyU© nÎmm - nrZH$moS (Amdí¶H$)
nmbH$m§Mm ‘mo~mB©b Z§~a -
gmo~V OmoS>md¶mMr do~gmB©Q> dê$Z H$mT>bobr H$mJXnÌo -
(1) JwUn{ÌH$m, (2) {dÚmÏ¶m©Mr CÎman{ÌH$m, (3) Am‘Mr CÎmagyMr, (4) MAHARASHTRA
TALENT SEARCH PARIKSHA JALGAON ¶m ZmdmMm é.700/- Mm gaH$mar ~±Ho$Mm S>rS>r d
(5) ñdV:À¶m KaÀ¶m nÎ¶mMo {VH$sQ> Zgbobo nmH$sQ>, (6) narjoMo hm°b{VH$sQ>
¶mn¡H$s EH$hr H$mJX Zgë¶mg ’o$aVnmgUr hmoUma Zmhr. ’o$aVnmgUrV JwUm§V ~Xb hmoD$ eH$Vmo.
JwU H$‘rhr hmoD$ eH$VmV.dmTy>hr eH$VmV. JwUm§Mr dmT> Pmë¶mg é.700/- Mm hmM S>rS>r naV
Ho$bm OmB©b. ’o$aVnmgUr Z§Va {dÚmÏ¶m©À¶m CÎman{ÌHo$Mr a§JrV Poam°³g àV {Xbr OmVo.

         nmbH$m§Mr ghr                                                {dÚmÏ¶m©Mr ghr


